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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2016 

co ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : (i) Attempt any four questions. 

(ii) All questions carry equal marks. 

1. 	(a) Fill in the blanks with a suitable word as 
given in the brackets : 	 8, 41/2 
(i) When the errors are in one direction, 

	

they are called    errors. 
(unbiased/ biased) 

(ii) A 	 variable is one which 
can take only isolated values. 
(continuous/ discrete) 

(iii) Division of data on the basis of 
similarities and resemblances is 
termed as 	 
(classification/tabulation) 

(iv) Title given to a row in a statistical table 
is named 	as 
(caption/ stub) 

(v) In a histogram, the time is taken on 
	 axis. (y/x) 

(vi) 	  is called a positional 
average. (mean/ median) 
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(vii) 	  is used to denote the 
degree of heterogeneity in the data. 
(Skewness / Dispersion) 

(viii)	 of a Logarithm is always 
positive. (Mantissa/ Characteristic) 

(b) Distinguish between primary data and 
secondary data. 

	

2. 	(a) Explain the observation method and 
personal interview method of collection of 
data and also narrate their merits. 	8, 41/2 

(b) Briefly explain a variable and an attribute 
with an appropriate example of each. 

	

3. 	From the following data, state which series is more 121/2 
variable. 

Variables Series - A Series - B 
10 - 20 7 5 

20 - 30 10 9 
30 - 40 20 21 
40 - 50 18 15 
50 - 60 7 6 

4. 	(a) Draw a range graph for the following data : 
8, 41/2 

Day Minimum 
Price Z 

Maximum 
Price Z 

Monday 20 27 

Tuesday 18 29 

Wednesday 27 31 

Thursday 22 25 

Friday 28 30 
Saturday 30 34 
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(b) Write the importance of graphic presentation 
of statistical data. 

5. 	(a) Calculate median from the data given below : 
8, 41/2 

Classes Frequency 
0 - 20 14 

20 - 40 23 

40 - 60 27 

60 - 80 21 

80 -100 15 

(b) Prove the following property of Arithmetic 
mean with the help of an illustration : 

I (X — 5() =0 

6. Differentiate between census method of enquiry 
and sampling method of enquiry. Briefly explain 
various probability sampling methods. 	41/2,8 

7. (a) Find the Geometric mean from the following 
data : 	 61/2, 6 

156, 68, 2158, 332, 542. 

(b) What are the uses and limitations of 
Harmonic mean ? 
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T1F : (i) 	i7:)' yr?.  v7-6.  Of-47/ 

(ii) Rv# 304 3f-W N'il'e e 

1. 	(a) .1,1 td 	rqf TR 	g 39-4ff kloc glfl 

Pa-rt 	 8,41/2 

(i) 7-4 fqVri c,1) 	Rklf tU d'; 

	  f-4 11 'TT rirn t 

( 3T9firiff/ atm) 
(ii) 	 wT 7w Or 	ta-9 

ii-TRTIT (isolated) lic-q 	T lichen 

t I (aTTerq.ff/TeuTd) 

1 1-11-1113# -ffgr ,H1 4-elc114 	alTETR TR 
facq- 	11(11 1.)11cli t 

( 	4 ricm u / R u 	u ) 
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(iv) .).iirts41.4)1ti Tr ffuft 	LAI 	\Ai 

alrl 	 ‘WT~1~ 1 t I 

(Riii7114/ 1-ircict mac) 

(v) 1i cbt (.14) 14 (histogram) 

	aw 	f971T 	Ica t I 

(y/ x ) 

(vi) 	 R.w .ft:grdw (positional) 

	

Ttzi   t I ( 7:1194/ 1:11ft,W) 

(vii) 	  'WT dt-i 417 T114. 1.  

F14 1-11 1 111 'T1 HI* 	etA 	 

(mil( u11rn t I (( re14 4i11/311:1FW71) 

(viii) ..sITIKITT (logarithm) -WT 

	T:171-1 +1 ,4) Riclich tfff t I 

( 14-ife71/31-549VT) 

(b) 31MigrWW fgal-zrw 744 (1). -4f-A7 

2. 	(a) Tri:Wf*44-iVI .A.  31-4-AWfffqrti .ffeil otircto ,  lc( 

7:1Tk1rr{f4ft.74 4 0411(911 -4f-A7 I 	quI .  

r 141 	-4-r-A-RI 	 8, 41/2 

(b) 'W (variable) 7 24T -111.  (attribute) -4.  t)--et) 

3"cfpff 	gRI -14#q 0 41(NI 414R I 
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3. 	1-14--I(r1ftid 31c i t 3iRTR TR 	"q—d 	fT 1)1 	t 121/2 

TETTErft 31F% Lirtaci-Riki (variable) t ? 

WT .kiitul 	- A Hitt)! 	- B 

10 - 20 7 5 
20 - 30 10 9 

30 - 40 20 21 
40 - 50 18 15 
50 - 60 7 6 

4. 	(a) 	1:1 1-1 	cf 3-Tict)51.  t Folk fq- Tr{ 	 
(Range Graph) 	 : 	8, 41/2 

tq  -11 1 H Tfff 
t 

altimal; Tim 
t 

art 20 27 

18 29 4-iiiociit 

ItrdTt 27 31 

22 25 

28 30 1 '  30 34 

(b) 	tse4a, 	 31t4 t 	111 	ch(uf 

"TT 7--a*•w1f--A7 
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5. 	(a) 	1-14-i 	 I -i.gfbtf-w.  3#.  (median) 

q110 	: 	 8, 41/2 

Wit 37f7 

0-20  14 

20 - 40 23 

40 - 60 27 

60 - 80 21 

80 -100 15 

(b) 	1 	37TTT -crT 	tsi l'e4c1T 	-B1:11.77 TITETT 

(Arithmetic mean) 	F-14-1 Fo `tad fqtsr -4113T 

(property) 	 : 

/ (X —X) =0 

6. 31-01 ki+ 	tuNI (census) treff 7 241 .51f-TO (sample) 

tred atd-T qt-i 	f454--  Tfinfa-a-r NrcNi-f ft-tit 
1*( ci tsq .w11--4R I 	 41/2, 8 

7. (a) 	14-1 Ortgc-1 3IIT 	IT (Geometric 

Mean) f 3-11W-M9. 	: 	 61/2, 6 

156, 68, 2158, 332, 542 

(b) 	 TITtzi (Harmonic Mean) * 3:17471 

wr7--- Tcr 'Tr-4R 
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